
Page 1 of 1			

INTRODUCTION
Included with each AH100 Grip Handle Kit:
• One (1) AH100 Grip Handle
• Two (2) 1- 1/4" Washers
• Two (2) 5/16" x 3/4" Hex Head Bolts

INSPECTION
Inspect the kit for damage and any shortages prior to instal-
lation.   Damage sustained in transit is the responsibility 
of the carrier.  If transit damage is discovered, notify the 
carrier immediately and file a freight claim with them. If any 
shortages are noted, contact Jason Customer Service at 
800-255-5766.

Tools & materials required
For ease of installation, and safety, Jason recommends the 
use of the following tools: level, square, 1/2" wrench (or an 
adjustable wrench), drill, silicone sealant, and 1/8" & 3/8" 
drill bits.

INSTALLATION
1. To obtain the hole-layout and proper handle placement,

first locate the desired position of the AH100 Grip Handle
on the Bath Deck.

49-2016-007
Date   11/14

Owner’s Manual

AH100 Grip Handle Kit
INSTALLATION INSTRUCTIONS

“TO BE REMOVED FOR USE BY THE OCCUPANT.”

	N OTE: The AH100 Grip Handle Kit Must be Installed before bath 
installation.

2. Following Figure 1, mark the Lower Hole’s position 5"
[12.4cm] down from the Bath Deck. Verify the handle
is positioned flush to the bath deck and mark the Upper
Hole’s position. See Figure 2.

3. Drill two initial 1/8" [3.5mm] pilot holes at the locations
marked in the previous step.

NOTE: To avoid chipping or cracking the acrylic surface, DO NOT 
drill the pilot hole completely through the bath.

Using the drilled pilot hole as a guide, finish drilling the
holes with a 3/8" [10mm] diameter drill bit.

4. Place the handle on the bath, being sure to align the handle
with both holes, and hand tighten each of the bolts and
washers on.

5. Using a 1/2" wrench, fully tighten each of the bolts until
the handle is secure.

6. Apply silicone sealant to the bolts on the back of the
bath.

Acrylic Wall

Handle
Bath Deck

Acrylic Wall

Bath Deck

Bath Wall

5"
 [12.4cm]

Back of Bath
(Fiberglass)

Back of Bath
(Fiberglass)

Figure 1 - Hole Locations Figure 2 - Handle Placement

Straight Edge

Bath Wall

Lower Hole

Upper Hole

5/16" x 3/4" Hex Head Bolt

5/16" x 1-1/4" Washer

Jason Hydrotherapy
8328 MacArthur Drive North 

Little Rock, AR 72118 
www.jasonhydrotherapy.com 

MADE IN THE U.S.A.

Jason Hydrotherapy  •   501.771.4477  Customer Service :  800.255.5766 
Copyright © 2014 Jason Hydrotherapy


